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Take the reading *f the 
seconds, Mere the dee leal peint two places to the left, end 
the result will be miles per hour correct te one dec Inal 
place,

btwplei 1007 feet In 6S seconds or 10,07 «îles per 
hour. The correct aneeer te one decimal place is 10,1 allés

ter In feet for tig

per hour
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few people, excepting entomologists, are rentre of the 
fact that files, and ether two»wingsd Insects, peeeees 
another undeveloped pair of wing» behind the flret, known 

aoclng organs*• The presence of these rudimentary 
shews that the two-winged Insects (diptors) are dee»organs

Dees this indicate that two wings are preferable te 
fsur fsr the purposes sf flijditt
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